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QUESTION 1

What is the GUI-based interface that manages a cluster?
A. Cluster Bench

B. Device Manager

C. FilerView

D. Node Studio

E. System Manager

Correct Answer: E

QUESTION 2

Which are three characteristics of an iISCSI or FCP SAN implementation? (Choose three.)
A. A LUN can be converted into a VLD.

B. LUNs can be accessed using the FCP protocol.

C. LUNSs can be accessed using the iSCSI protocol.

D. Block services are associated with an iSCSI or FCP SAN environment.

Correct Answer: BCD

QUESTION 3

When Data ONTAP creates a weekly, nightly, or hourly snapshot, the value of n (as shown by the snap list command) is
adjusted for all the weekly.n, nightly.n, or hourly.n Snapshot copies. The higher the value of n, the the
snapshot.

A. older

B. newer

C. more important

D. least important

Correct Answer: A

QUESTION 4

Which three does clustered Data ONTAP support for iSCSI with Microsoft Windows 2012 solutions? (Choose 3)
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A. Enhanced Transmission Services
B. NIC teaming

C. Jumbo frames

D. VLANs

E. ALUA

Correct Answer: ACD

QUESTION 5

At which storage object level is deduplication enabled?
A. Aggregate

B. Volume

C. Qtree

D. LUN

Correct Answer: B
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